Midterm 1

Physics 1A (Lec 5)

Name:

( ’-L\-m\\ Loc
ID number: ( 0944704 ¢ g

Time to complete the exam: 90 min

Each problem is worth 20 points. If a problem has parts (a) and (b), they are 10 points each. It
is not sufficient to present the final answer. You need to show the solution and justify your steps
at the level of detail that would be sufficient for your fellow classmate (or grader) to understand
how you arrived at the final answer. Please write your solutions in the spaces below each

question. You can use the back sides of the pages as scrap paper. Numerical answers need
not have more significant figures than the numbers provided in the problem.
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Problem 1
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Problem 2 An arrow /2/J :
: shot horizont i
T ally hits a wall 50 meters away at a point 5 meters below the
...-\gL
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(b) What was the angle between the velocity of the arrow and the horizontal when the arrow hit
the wall?
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Problem 4
Two boxes with
by a cord as shown

(@) Find the acceleratig

| n of the boxes as they _0? - hs {_—_J;J_
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(b) Find the tension in the cord connecting the two boxes.
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Problem 5

mass m, for which the sy
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Problem ¢

The system shown in the figure is in equilibrium,
The coefficient of friction between the block and the
table is u.

figure? Express the answ
angle shown in the fi

gure.
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